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. T he reduced phase ;':Ie is interested i rtant 2
Answer: a)p& T c) p & cone: d) T & conc.
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_2: Ideal solution follows - - - - - - - = .

P
Answer: a) Raoult’s b) Trouton’s W d) Van’t Hoff’s law
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~3: The three phases o Hz () in the phase dzagram meets’

" Bologna_Process”

Answer b) over 1 atm ¢) below Iatm d) at any pressure
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~4: Liquid solution of HNO; is formed from9
Answer: a)l1C b2C
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_35: How m‘any phaf?s) are there when
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mber of variants is Zero and the number of components is one?
Answer: a) zero c)2 d) 3
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6: The Clausms—Clapeyron equatzon can be applied when there is an equtftbrzum between one of the following?
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Answer: a) L &1 L
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7: One of the following formulas represent'ft%e rtght equation t‘if Hemy s law?

Answer: Y })/Y' APl b) PA > xAP 4 ¢) Py <yiP'4 one of thesd
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8: Molaltt_"v -ts used to calculate the mold? mass of the’

Answer: a) non-volatile solute b) pure solute Wm d) solution
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9: Osmosis pressure exerts when the solvent transfers fo the? e
Answer: a) volatile solute b) non-volatile solutf ¢) pure solvent ﬁ@%
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~10- One of the mostirfiportant benefits of measurmg AVP, ATy, ATrand AIl is to calculate ----- of B?
Answer:\ b) m oV = d)p
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- 7Ji The vapor pressure (VP) of a substance is 30 torr at 250 K At what temperature will the substance have

VP of 150 torr? Ay 19 k9jb[/bu ,,L(_' U/;Q) e L)
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iagram of the system (A & B) assumed that (A & B) do not react with each other. A
freezes at (— 5 °C) and B freezé/s at (,'Z,EC), and that an eutectlc mixture is formed when the ratio is 70 wt
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hen label all the barts (p & F) of the dlagram"
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